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ol =0.8-+(1~- 3000V + 100) =1.215

a2 =1.00=(1 - 2,000V = 100) =1.25

ad =100+(1~ 3V <+ 100) =1.21

el., a2, o 3DFERELEHE LGRS LES a = 1.250

m=a X SL= 30.0

PLEXY, BEE3HEMm = 30.0(N/m) & LET, m = 30.0(N/mf)
KA KL (W/C)

W/C =249 +-(30.0 + 12.2} X 100 = 59. 004 (%) W/C= 59 (%)
BT K& (W) LHERELY W= 157 (kg/n’)
Bifir A v FEA(C)

C=W -+ W/C X 100 = 157 =+ 59 X 100 = 266(kg/n’) C= 266 (kg/nt)

Ve =C +pc= 266 + 3.04 = 88(0 /) Ve= 88(Q /uf)
HE R (s/a) LHFERELD s/a= 42, 3(%)
BB OHE A FE (Va)

Va =a/))-MEF-( W+ Ve +Vair)

= 1000 -{ 157 + 88 + 45 )= 710(R /uf) Va=  710(Q/nf)
BN B A & (S)

Vs =VaX (s/a=100)= 710 X ( 42.3--100)= 300(Q/nf) Vs=  300(Q/nf)

JBEEL 50 ¢ HO(EEM) FREHLICHE 19.455 : 19.011

Vsl = Vs X ( 19.455 =( 19.455 + 19.011))=  152(Q/uf) Vsl=  152(0/nf)

Vs2 = Vs — Vsl = 148(0 /nf") Vs2=  148(0 /nf)

S1 =Vsl Xpsl= 152 X 2.57 = 391 (kg/n?) S1= 391 (kg/nt)

52 = Vs2 X ps2 = 148 X 2.63 = 389 (kg/ni) S2= 389 (kg/nt)
B F A B (G)

Vg=Va — Vs = 710 -300 = 410(Q /nf) Vg=  410(Q /nf)

BEH 256 : 35 40(BEH) FEEHLICHEE 9.363 : 13.109 : 14.981

Vgl = Vg X( 9.363 =( 9.363 + 13.109 + 14.981))= 102(L /nf) Vgl=  102(Q/nf)

Vg2 =(Vg - Vgl) X ( 13.109 = ( 13.109 + 14.981)})= 144(LQ /nf) Vg2=  144(0 /nf)

Vg3 = Vg - Vgl - Vg2 = 164(L /uf) Vg3=  164(8Q/nf)

Gl = Vgl Xpgl = 102 X 2.67 = 272(kg/nf) Gl=  272(kg/nf)

G2 =Vg2 X pg2 = 144 X 2.67 = 384 (kg/nt) G2= 384 (kg/nf)

G3 =Vgl Xpgd= 164 X 2.67 = 438(kg/nf) G3= 438 (kg/nf)
BRI & (Ad)

Adl = C X EINER+ 100 = 266 X0.800+-100= 2.13(kg/nf) Adl= 2. 13(kg/m)

Ble3 (kg nf)
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